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QUESTION 1

Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)
A. By default, the next-hop value is changed across IBGP links.

B. By default, the next-hop value is changed across EBGP links.

C. By default, the next-hop value is not changed across IBGP links.

D. By default, the next-hop value is not changed across EBGP links.

Correct Answer: A

QUESTION 2

Exhibit

M\ Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)
A. Prefixes in Level 1 will be redistributed to Level 2.

B. Prefixes In Level 2 will be not redistributed to Level 1.

C. Prefixes in Level 2 will be redistributed to Level 1.

D. Prefixes in Level 1 will not be redistributed to Level 2.

Correct Answer: C
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QUESTION 3

You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two
statements are correct in this scenario? (Choose two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.

C. Traffic engineering extensions are not enabled by default in OSPF.

D. You must use the policing parameter in the label-switched-path configuration.

Correct Answer: AC

QUESTION 4

Which two interface types are used as tunnel endpoints? (Choose two.)
A. ae

B.ip

C.ge

D.gr

Correct Answer: BC

QUESTION 5
Exhibit The exhibit shows a topology with 1 Gbps interfaces between routers, and four RSVP LSPs operating with the

respective bandwidth reservations. Which path will be selected for a new LSP from R4 to R6 with a bandwidth
reservation of 400 Mbps?
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RVSP LSP with 300 Mbps reserved
. RSP LSP with 700 Mbps reserved

A.R4->R1->R2->R5->R6
B. R4 ->R5 -> R6

C.R4->R5->R2->R3->R6
D.R4->R1->R2->R3->R6

Correct Answer: A
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